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EX

I. Match List—T with List — 11 and sclect the correct
answer from the code given below the lists.
fdgt -1 List - 11
(Committee) (Year of
— Appointment)
A. Balwant Rai Mehta Committee 1, 1957
B. Ashok Mehta Committee 2. 1977
C. L. M. Singhvi Committee 3. 1986
D. P. K. Thungun Commitlee 4. 1088
Code :
A B C D
@3 4 2 1
M1 2 3 4«
)2 3 1 4
4 1 2 3

2. Dichloro-diphenyl-trichloroethane (DDT) isa
(a) Biochemical pollutant

(b) Non-biodegradable pollutant

(c) Biodegradable pollutant

(d) Non-pollutant

@ Which two of the following are correctly matched ?

Tribe State
1. Keria — Odisha
2. Kuki — Uttar Pradesh
3. Yanadi — Rajasthan
4. Paliyan — Tamil Nadu

Select the correct answer from the code given
below :

Code :
(a) 1and 2 (b) 1 and 4
(c) 2and 3 (d) 3and 4

4. Which one of the following is NOT an example

of bio-mass energy source ?
(a) Wood (b) Nuclear energy
(c) Gobar (Dung) (d) Coal

L/9\\%0 among the following had translated
Chintamani Bhatt’s Sanskrit text ‘Suka Saptati’
in Persian and gave it the title ‘Tutinama’ ?

(a) Amir Khusro

(b) Abdur Razzak

(¢) Shihabuddin-al-Umari

(d) Khwaza Ziya-uddin Nakhshabi

2-

PCUX., _
FE:ﬂ -1 &l Hiﬂ na ﬁﬁﬁ?{ Hifay ‘ﬂgn
%ﬁﬁﬂ@ﬁﬂ@ﬂﬂﬂm% ﬁ
geft - 1 T - 1 (
(afafa) (Frafert am )
A. werdd T4 Hgdl gfafy L. 1957
B. 3wk HEdl |fufd 2. 1977
C. ue,un, fhudt afafq 3. 1986
D. 'fi.%. Y qfafa 4. 1988
e :
A B C D
@3 4 2 1
b1 2 3 4
©2 3 1 4 /
@4 1 2 3 A
STEERI- 3|3m§”53' glﬁﬁfilftsﬂq (DDT) =
|
(a) SeEERS TguH
(b) IEATHA TGHF
(c) SaTHH TquH

(d) TR-JEEUH AT TR-¥gTH
F=fefea § @ w-8 3 v gifem § ¢

AT T
1. =i L
2. Feht — IW W
3. gEC — U
4. it —  afleETg
T 3 ™ %2 & g I == HivE |
He :
(a) 1Tu12 (b) 1auT4
(c) 27913 (d) 3auT4
Frafeiga & | FH-a1 SOWE S S | @i
(a) TS (b) T Jrel
(c) T (d) rEen

Fraferfiaa o & e Ramamftn wg gro e &
T ‘Y gl w1 R § Igare w36 T
fem’ @ 7

(a) 3R gad

(b) 3TegT ToolTeh

(c) REEdn-3w-3ait

(d) @ frn-sde ety
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EX
6. The audit report of the Cf)mplroller and Auditor
General of India is examined by
(1) The Estimates Committee '
(b:} Public Undertaking Committee
(¢) Public Accounts Committee ./

(d) None of the above

}) Which State of India has launched the country’s

N first digital water data bank *Aquarium’ for clean
water and water security in April 2022 9
(a) Tamil Nadu (b) Uttar Prades

(c) Punjab (d) Karnataka

. With reference to the ‘India Smart City Awards
Contest - 2020’ that was given in April 2022,
match List-1 with List — IT and select the correct

answer from the code given below the ljsts.
List-1

List - 11

(Category) (Winner City)
A. Cultre 1. Vadodara
B. Governance 2. Indore
C. Social Aspects 3. Bhopal
D. Urban Environment 4. Tirupati
Code :

A B C D
@l 2 3 4
B2 1 4 3
©1 2 4 3
2 1 3 4

9. Consider the followin

g statements about farm
subsidies in India.

L. The input subsidies in India, such as on
fertilizers fall under indirect farm subsidies.
2. Reduction in power and irrigation bills

offered to farmers fall under direct farm
subsidies.

3. The agricultural provisions of the World Trade

Organization (WTO) though allow direct farm
subsidies, prohibit indirect subsidies.

4. All subsidies provided by the governments
in India fall under the indirect subsidies.

Select the correct statements using the code given
below,
Code ;
A 1 and 2 (b) 3 and 4
(¢) 2and 3 (d) 1and4

D

3.

PCUY.

6. Wi UX-1-22
wnmmt qﬂﬂﬁ%ﬁrm&amn
(@) Yreehery
(b)%m;ﬁﬁm
(C)Eﬁiﬁﬁ@m
(d)%ﬁﬁﬁgm

7. T % fg ‘ .

g Hmfgh;w%a;@wﬁm%%i
¥ 2022 ¥ arcen 3?i¢, ' #
(a)- (b)?»%r(sr&a
(€) o () Tt
8. mﬁazozzﬁ&a@m
, S o Jarég
ﬁ-ﬁzﬁozoaamﬁﬁﬁmﬁ*ué
aur
I g | W%ﬁfﬁa@@gm
-1 T -1
(3o )
A. weply . ey
B. g 2. %
C. s veq 3. Wi
D. Fri vty 4. frfy
%
A B C p
@1 2 3 4
®2 1 4 3
©1 2% 3
2 1 3 4

9. mﬁﬁ&‘ﬁﬁq&(ﬂ%)%uﬁﬁﬁw
FYA W R K |

L. e ¥ g i 38 e w & o
AT FH HfS & 3 I B |

2. orarl = ferelt o R w & i areh
A weaer i ¥ v e 2 |

3. fova s E (T AN S
TEEH} ST W w9 sk
& €, g et Wi W i o ¢ |

4. WA wHil g & 9 Al wh wfeatai
arveaet Soft § andt 2

2 /2 g R v ¥ Wl v o
Aifn

f)-lmrrz (b) 3 4
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10, When the Environment (Protection) Aet for the
protection and preservation of environment was
passed by the Government of India ?

—4aY 1086 (h) 1974
(¢) 1981 (d) 1971

—

1. : Who among the In”nwing has become the first
woman President of Tanjania in April 2022 7
(a) Samia Suluhu Hassan
(b) Sahle-Work Zewde
(¢) Ellen Johnson
(d) None of the above

C

12. Most of the sources of encrgy we use, represent
stored solar energy. Which of the following is NOT
ulimately derived from the sun's energy ?

(a) Geothermal energy (b) Nuclear energy
(¢) Wind energy (d) Biomass energy

~

13. On which date Ozone Day is observed ?
(a) January 30 (b) September 16'-/
(c) April 29 (d) October 2

14. Match List — 1 with List — I and select the correct
answer from the code given below the lists.
List -1 List - IT
(Schedule) (Subject)
A. Third Schedule 1. Allocation of seats
in the Council of

States

B. Fourth Schedule 2. Forms of Oath or
Affirmations

C. Seventh Schedule 3. Languages

D. Eighth Schedule 4. List of subject

matter of laws to

be made by the
Parliament and by
State Legislatures

Code :

A B C D

@@l 2 3 4

(b)3 4 2 1

@2 1 4 37

d4 3 1 2

15. Al which one of the following place, the World
Health Organisation (WHO) is going to establish
Global Traditional Medicine Centre ?

(a) Jamnagar (India)
(b) Jaffna (Sri Lanka)
(c), Haridwar (India) Y
) Johannesburg (South Africa)

D 4-

10

I

12.

13.

14.

15.

1

P(_'Ux_l

-

W1 G gro aatay & afroag (¥,
wftfrn & wifra fEar mm en 2 )

(a) 1986 (b) 1974

(c) 1981 (d) 1971

e 2022 # Freafafiaa ﬁﬂﬁﬁﬁTﬁm_ﬁ
ufwen svam (yefdz) wft & 7 L
(a) wferm qqgnm

(b) wES a a2

(c) e A4

(d) sudan § & wré

R GT T P P R ot 5 A iy

an St o e o & | Prefofaa gy )
;g 1 I @ e A A 2 7 b

(a) Yardra FHai (b) =Thrfrg i
(c) TaA Fal (d) =EHEE Fat
3 feaw fara fafe =1 mamn s 2 7
(a) St 30 (b) 16 foamam =i
(c) 29 ¥ =i (d) 2 EgEt =
Tt - T gt - 118 grfoa Hiad a0 i
92 A ™ Fe I 9d IW F T Hf |
g -1 T - 11
(svgEsh) (forem)
A. T ITEEt 1. T faum aies &
TIH FT 3=
B. =gd aggst 2. YUY A ¥WE e
C. graefl aggst 3. wmnd
D. mad gt 4. g 3T foum g
T R S Tl
fafet 5 faw
F2:
A B C D
@1 2 3 4
b3 4 2 1
2 1 4 3
4 3 1 2

frafafea @ @ frg @@ w fave @R
(S5, w@.30.) T ot w1 TS F
a0 ST @R 7

(a) SHAT (W)

(b) SHAT (Hfieiehr)

(c) BGR (W)

(d) Shgreent (gfior anhie)
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Al 1 . n Id
:are IWO glatements, one 18 Llh!:;h.,
and the other as Reason ( ).
) : The ?1“’ Amendment ol tl}c
E}q considered to be a w‘nlcrsh_cd n
istory of local self government in India.
o hlsml)) Tl 73" Constitution Amendment
1ne /3 Onsu! : . i
Reafson:n(ilfl'lc much coveted Constitutional status
COIIC ;
anchayats. .
) Panchaya ‘ N
gl lect the correct answer from the code given
<
below.

Assertion (
Constitution

(E:j’dg;,)lh (A) and (R) are true and (R) is the
— correct explanation of (A)
(b) (A) s true, but (R) is false 5 )
(c) Both (A) and (R) are true, but (R) is no
the correct explanation of (A)
(d) (A) is false, but (R) is true

17. Match List—I with List — Il and select thﬁ: correct
" answer from the code given below the lists.

List-1 List - 1II
(Person) (Concerned with)
A. M. S. Swaminathan 1. Social control on
Banks
B. L.K. Jha . Milk Production
C. Verghese Kurien 3. Green
Revolution
D. Moralji Desai 4. Economic
Administration
Reforms
Code :
A B C D
(a) 1 2 4 3
(b) 2 3 4 1
S0 3 4 2 1
(d 4 1 3 2

18.  With reference to Chandragupta — II, which of
the following statements is/are correct ?

L. The strongest evidence in the context of Shaka
Victory is the silver coins of this King.

2. The weight of these coins used to be about
3 grains.
Select the correct answer from the code given
low :
Code : 4/
(@) Only | “"(b) Both |
(c) Only 2 } N2

[___ (d) Neither 1 nor 2
19. ermodynamically the most stable form of
Carbon jg
(3) Diamond ~tb7 Fullerenes
(¢) Graphite (d) Coal

16. = QA Fo fay my

17.

18.

19.

FUUA-L - 22 {
LI e —
qﬁ’tfﬁmm)mma_. :

aﬁm(m:?méﬁunéa?mm%mmuw
%sﬁmﬁwamm%mﬁmm% |

m(ﬂ;:?ﬁﬁfﬁﬂmmﬁmﬂmﬁﬁaﬁfﬁ
a&manﬁmﬁmaﬁmf%m|

ﬁ%ﬁﬂﬁ%ﬁmﬁmmwaﬁﬁ'&l
‘E!

(@) (A) 7o (R) 2wt # 7o (R), (A) 51 wrht
=me 3 \

(b) (A)H& R, vt (R) e 2
(©) (A) 7 (R) 3 7 #, v (), (A)#1

TRl =aTE Y 3
(d) (A) T R, g (R) w1 2
@_laﬁxﬁr—uﬁgﬁ‘%ﬂﬁmw +
ﬁ%@%ﬁmwwﬁmnm
T -1 T -1
(=fEm (=g /amay)
GORGRCRSILIE DE R Co B o —
B. @. %. @ 2. g9 I
C. wrfiq Fiew 3. g =
D. WS 2 4. I weER gEn
L T
A B " D
(a) 1 2 4 3
(b) 2 3 4 1
(c) 3 4 2 1
d) 4 1 3 2

T ~ 11 % gl ¥ frafefes 3§ 3 Sw-m/2

FY T /R 7

L ¥ foorm & wed  wed Wt s 3@ R
H wE e |

2. ¥ g3l <R A T 33 39 gen e o |

A4 R ™ g2 ¥ vl I w AR
%e .

(a) e | (b) 1@ 23

(c) e 2 (d) F@ 1382

Fepfoehi (YaTsrfienedl) &9 @ w6 @1 g g
R s wF-w 2 7
() ¥

(b) e
(c) AwIgE

(d) T
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ﬁ PCUX-1-22

20. Match List—Twith List — 11 and seleet the correct 20. g - I =t w11 A gﬂ'f 2 $ifwa aa gt &

answer from the code given below the lists. fa fa m kT a g I qﬁm l
List - 1 List — 11 ot — | e - 11
(Waterfalls of Indin)  (Location) (WA & 7 9T (aﬂfﬁ’]ﬁ)
A. Dudhsagar 1. Kamataka A. TUETT |, #ATZH
B. Barkana 2. Odisha B. &R 2. #ifam
C. Khandadhar 3. Himachal Pradesh C. TEHT 3. feor== v
D. Palani 4. Goa D - 4. T
Code : .
A B C D e A B C D
@4 1 2 3 @4 1 2 3
4 3 2 1 by 4 3 2 |1
51 2 3 4 @1 2 3 4
3 2 4 |1 d 3 2 4 |1
21. T. Malthus propounded one of the most famous | 21. @ Aredd 7 ‘& areyfaas =l T ufag fagr=
Fheolx'ie;acalled “The Malthusian Theory’ which = yiowfea foran, it oeafm 2
1s related to 5
(a) Poverty «by Population (a) Tasd=an @ (b) & |
(c) Unemployment (d) Economy (c) ST | (d) ez §
@Wha. is ‘Party Gate Scandal of United Kingdom® ? | 22. ‘gateee femen @1 wrdl e Shveet’ 71 2 7
Itis
TR
(a) Relates to conservative party flouting (a) FHoied Ul GRT Ahal=Ih II8N &
rms of Democratic behaviour qHUS! & Iga § FEteg 2
/Uﬁ;lates to flouting of Covid-19 norms by (b) Tefem wamw= FRTe g Fifae-19 a=Eel
British P.M.’s Office %+ 3gud § gy @
(c) Relates to labour party flouting the norms (¢) SR 9T g HEEY SqEER % HHeUE F
f Parliamentary behaviour IguA ¥ grEfa 2
Relates to illegal funding made to political (d) i quT Feis | Tefas gt
parties in U.S.A. and U.K. MR- BieT @ grafvg 2
23. The bacillus haemophilus influenza causes 23. Afed EifheE AU HE &
~—7 Influenza (a) FHRIGST I
¥ A form of meningitis in young children (b) B¢ E‘j R A (AR ) S 5
(c) Pneumonia (c) Pt =1
(d) Whooping cough (d) el @it
24.  Which of the following is NOT a green house gas ? | 24. f=fefiga # & ®-¥t gia-g o d 2 2
(a) Carbon dioxide (b) Chlorofluorocarbon (a) e SEATEARS (b) FAUTAIHEA
(c) Methane Adr”Argon (c) Haq (d) ¥
25. Medical students of India were brought to India | 25. Fr=ifafaa ¥ & feew aﬁq’taﬁ o I WA T
from Ukraine by Indian Government under which EU M & WiEHA Ol H b § YA T
of the following operations ? T ?
) Operation Ganga  (b) Operation Himalaya (a) TIA T (b) AR faure™
(c) Operation Yamuna (d) Operation Godawari (c) ITTH THAT (d) INTRIA Meradt

D i
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rgeted group 26, frriferfem & 3 -y ¢

: e 1arg
ollowing S i Scheme” 7 A=t f R @iy g
\pra hlca: Mantrt S (1) 33 Py |
L farmers “?)
rym | farmers (ZJ § T 1
rect \‘ond"!‘su“urlll labourers o a(ﬂd) tﬁ;fq F aftr
55 ABMC South-East . -4 ufyrgy
ocated in s 1
B follow ot 'C"If'lg-‘.mml” Frfefean & 3 2 ﬁ:?;?;:‘:-f:}mﬁ;: 2k
fo 1
i d amon ‘ﬁ vl:;a'no L. 7 Fﬂq%’ﬁamﬁ i
- ‘t yrmed due £ _ 2. 50 3ot ey ﬁlz}q%mnﬂ
on. e answer from the code given gﬁﬂ o) ET o #h IR T w 2
(a) et |
(b olh|dl'ld2 (b) | d91 2 714t
dﬂ Neither 1 nor 2 q(; 3?&:)[2 ) 77 1782
t| 28 — 1=t g=h
List— IT and select the correc ~ 113 gifer £ .
- Maich I'I;:J _.Lhwlll;delgwen below the lists. | ﬁ'& @IF 1}{ a# T ‘g’ﬁ'q | aq1 Hﬁﬂf ED
answer = H — -1
List -1 [Eg::ty) A (aan ) qfild)
(ofﬁcer) 1. Guard of Octroi B. . L. gft = e
A. Talet 5. Officer of cases of Dacoity ' 2. -t 5 ey ey
patakold C. w3, qfy
B. Sahsadhipati 3. Officer of Night Guards D. T 4' N FE
1(): Baladhip 4. Village Tax Collector ' i A FH T
1' . e :
N A A B C D
| w3 4 2 1 (@ 3 4 2 |1
0 4 3 1 2 © 4 3 1 2
| @ 1 2 3 4 @ 1 2 3 4
29. ngh rch%lous group in India has its highest [ 29. I | forg mﬁﬁmﬂmfﬁﬁmm% ?
urbgn popu ation ? !
el lain (b) Bauddh (@) 3 (b) dg
| () Chnsuan (d) Hindu (c) $urd (d) %ﬂ
_ 30.) Match List —I with List — II and select the correct | 30. —I na gﬁﬁm $ia iR
/ mwf'rrt'ronll the code given below the lists. g = r@g 2 e ghz} | agn %
Ist - List - II
, (Newly Elected Stat ‘ﬁﬁ -1 ?ﬁ'ﬂ -1
| {:l_‘&iidin Officer of ¢ (ﬁum &9 (X=7)
A""la'; abha) fraffem arema)
: esh Tawadk
] B. Kultar Sanz:iwhiganar é EOEI_ A. T GIEEE R 1. rﬁ-q'[
| € T Satyabrar s pome B. FeR WA 2. G
Ritu Khandari . e C. &. g5 3. mitrg
Il Codex . Uttarakhand D. fq wverd 4. ST
R ! A
@l 2 3 1 T B ¢ oD
b1 4 3 ; @l 2 3 4
©3 2
@2 4 b)1 4 3 2
3 1 4 3 2 4 1
D @2 3 1 4
e
7\ Downloaded From: https://www.dhyeyaias.com




Consider the following cities of Uttar Pradesh
and arrange them in descending order in terms

of their population.

1. Ghaziabad Il. Kanpur
1. Agra IV. Lucknow
Select the correct answer from the code given
below :
Code :
@ I I 1L IV »fm/n, 1,1V, 111
() IL IV, L I (d) LI, 1, IV

Which one of the following is correctly matched 7

32. :
(a) Deva Sama) ~ Banaras
(b) Bharat Dharma Mahamandal - Delhi
Sanatan Dharma — Calcutta
Rakshini Sabha
Lahore

(d) Radhaswami Satsang N

Va

3. ) The idea of ‘Rurbanization’ was elaborated by
which one of the following sociologists ?
(a) H. Spencer (b) Yogendra Singh
(c) G. S. Ghurye _(ﬁ’M N. Srinivas

34. Which one of the famous buildings of New
Delhi has been converted into Prime Ministers’
Museum ?

(a) Talkatora Stadium

(b) India Habitate Centre ,
o) Teen Murti Bhavan

(d) Vigyan Bhavan

35. The first airport powered by solar energy in

India is
(a) New Delhi ¢y Cochin
(¢) Ahmedabad (d) Chennai

Which one of the following Watershed

Development Projects sponsored by the Central
Government of India which aims at enabling the

rural population to conserve the water ?

36.

(a) Hariyali (b) Pani Sansad
(c) Jal Kranti one of the above
@ Which one of the following pairs is NOT correctly
matched ?
(a) Ishwarverman — Jaunpur stone
inscription
(b) Sarvaverman - Gaya Copper Plate
(c) Jivit Gupta—Second - Deva Barnark
inscription
(d) Ishanverman — Harha stone
inscription

3l

32.

33.

34.

35.

36.

37

PCUX-1-2;

I 2w & Prefefea i o frem S wy
AT ¥ AN W I it sy

#ifnd |
1. mfyrararg Il. ®EAg
V. oI

1. s
R A M gz @ wh I = T AR

L
(a) I 11, 1L, IV

() IL IV, LI

freffaa & @ ®a-a1 0% g gifera # 7
(a) ¥@ ™ - WARE
(b) ¥ ud mETHIEE - =&
(c) T wd Weft ey - wHerH
(d) TurETdt T - TR

frefafaa anemfert & @ fs e’
(TEATTEIYF) # =R % e @ waa ? 7

(b) ILL IV, HI
(d) OLIL LIV

(a) TH. TR (b) anr=; fam

() . w@. gd (d) @. .

7§ Reeeht Y frg wftrg TG I TUFEA GTEER
o qiafda femm mn & ?

(a) TR RfEam

(b) oA Bfiere d

(c) o g wa

(d) fasm weA

e 3 AR S g g el §aT$ HEST @
(a) & feeht (b) FEH

(c) TEHETETG (d) 3§

Brfrfed & ¥ - arecis e A ¥)a
& ¥z TR g TR & R Sew i e
aﬁmﬁ%m%mwm_‘%?

(a) EhETE (b) 9T TG

(c) vt o=t (d) Ifwa & } * T
. Prefiea gEt § ¥ F9 T w8 gt @ R 7
(a) $vaTEmA - A TR AR
OREELE - TR AW 9

() Mm@ -1 - ¥ wuis e
(d) St - wE v HfveE
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S

FLUX-1-22
orrect | 38, H — 1) g=h
" c”hc;urrt. “”éﬁﬂﬁ‘fﬂmﬂ F
\ - landse clhc lists: A2 2 my T W wh mﬂm .
ﬁ - with o beloV aft -1 TR T A
¥ ch 1}:3'"1 ine code B gt ‘t:l with) ) - 1
a ,,,sw“_‘ 1 (Rel? J roduction A. Megq iy mﬁ)
List on) ) il sc¢ P . 1. ﬁm JeqTe
le\'ﬂ‘I“ .gluil"“ L. 1 ﬂicll]lllrl— i B. ﬂ mﬁ | 1
Jden Re son 2. Ho o C. fish 2 tﬁ bl
A O Revolut Honey duction Al 3. e Jeqrey
5. GreY 4 petroleum Pr€ D. el (34a) iy 4 o
R{'.VOI""O“ ) Fcrtilizcl‘:i . 4.
‘ ¢, Yello® olution % w2
| D B¢ Re A B C p
" (@4 2 |
| code! o ¢ D 3
A l;" [ 3 ®d2 3 4
i l'a] f ; 4 1 (c) 1 2 3 4
| [b;IE3 + @2 4 1 3
(¢ 1 3
4 ; ;
7 | | are in | 39. Frerhin wht s
’ hich 0 he following m::untam ranges 390 & 3k g5 SRR - femmers wda
Whic tains -
3. e gimalayan R 2. Lhotse 1. 9t 3 2. W
I 1. Chﬂs?n):;ai 4. Sirumali 3. F=HEATS 4
. Ano i '
| sslea e correct answer from the code given A 12 g ¥ 7 v A
. :
| : &2
pelow :
aalie (2) %eet 1 7912
) Only 1 aznd 2d~3/ (b) et 1, 277 3
{-h}, gﬁ; BIan;Z (c) w1 3 71 4
(c
() Only 2,3 and 4 T
40, Whichoneof the following pair is NOT correctly | - 40. fr=fefea 3 & S-m1 v 3w v e T8 & 7
mmRed ' Modified starch J e
ayon - Mo T - Hyaftd oy
(b) Aspartame ~ — Synthetic sweetener ®) FadRE - =
(c) Oxytocin — Hormone ©)
(d) Neoprene — Specialized rubber (d) fasffa - fafire wg
41. Consider the following events and arrange them | 41. fr=fafas gemat w fer $1fA ok =
inIch];m:lfl)log;c;a;ll tzlr;iier. FHITHATIR Hafed HR |
. Battle of Mu el
L. Battle of Porto Novo - qret —_fg =
IIL Battle of Sh 1L 1 36
o akarkheda 1L, YT & 1%
. Battle of Bedara ' )
Select the correct an i p ik
| ek swer from the code given = A T g A W IR W WA R
" Code : e
f A BC D A B CD
.' ‘/gin I% [f_[l v (1 o I
Jﬂ ONm I | (by II IV II I
O my | c)Iv 11 1 1
(dIm umwv I
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.oh of the following Wildlife Sanctuaries of
42, ﬂ_‘cwas established in 1975 ?

(a) Kishanpur (b) Katarniaghat
(c) Raipur (d) Chambal

43. Famous ‘Ruhr coalﬁ.eld' is situated in which of
the following CO“““’_':’&
(a) France (b) Germany
© Russia (d) Great Britain

@hich of the following is NOT a fundamental

ty ? .
Y To respect the National Anthem

o protect and improve the natyra]
%nvironment

(c) To safeguard public property
(d) To protect monuments and Places of
national importance

45. /Match List — I with List — IT and select the correct
answer from the code given below the lists.
List - I List - II

(Building) (Builders)
A. Sultan garhi 1. Alauddin Khilji
B. Red Palace 2. Qutbuddin Aibak
C. Jamat Khana Masjid 3. Dtutmish
D. Dhai Din Ka Jhopra 4. Balban

B C
3 2
4 2
3 1
1

N“I-I-U

@d3 4

In the context of permissible noise level match
List — I with List - IT and select the answer from
the code given below the lists.
List -1 List - II
(Area) (Permissible
Noise Level)
1. 50db
2. 55db
3. 65db
4. 70db

A. Residential area
B. Silent zone
C. Industrial area

D. Commercial area

D
4
1
3
4

-10-

42,

43.

45.

46.

5]
Wm%ﬁq%lf&aﬂﬁm-mm
IRy 1975ﬁw:ﬁaﬁmwm?
(a) forwrrgy (b) FePrmr
(c) Ty (d) =
sfrg ,
Ll N fo reifan % o 3 4
(a) ShrE (b) nfh
() =& (d) ¥ fadm (3

ﬁ%ﬁaﬁﬂﬂq—m@mﬁ-‘maﬁhwﬂt?
(a) TSI 1 T ey

(b) Sepferes e ) va e e v

(c) méﬁﬁmmﬁrﬁwm

(d) TS wEew & wma 3 T e
T 1) g 11 % i SR o e &

A9 R T e v g
Tl -1 -1
(&) (Frertorest)
A. gam T 1. I faash
B. ¥t Hgw 2. 37 =
C. 9 @M1 ufesg 3. Zegatm
D. 31 7 =1 Huzn 4. SEq
e
A B C D
@4 3 2 1
B3 4 D1
©4 3 1 2
@3 4 1 2
FTAfAr TR =1 F wel § w1
gt - 1 & gafea A T @tﬁﬁi
T F | Tl IW H 9T l
T -1 -1
(=) (v viv &R)
A. a8 1. 50 ¥t
B. W &3 2. 55 gl
C. 3iifie &= 3. 65 ¥t
D. =9 &5 4. 70 ¥t
T
A B CD
@1l 2 3 4
) 3 4 2 1
)2 1 4 3
d2 1 3 4
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lect the correct
i ith List - 11 and sé el
) Ms::grl;r::n: III:: Icl:hode given belc‘mi lhlc lis
ans
Ocles! 3 (Maximum Deepest Point)
: : 1, Sunda Trench
" P":i!i"' 2. Puerto Rico Trench
B. AIC.KIC R s
5 :‘t‘:;:l:lc 4. Molloy deep
D.
% B c o
2
)3 4 1
.ji} 3 2 1 4 >
@1 2 3 4
@4 3 2 1

48. As of early 2022, which country was at the top
' in steel production in the world ?
(2) India (b) Jap.an
(c) England (d) China

49. With reference to ecological niche, which of the
following statements is/are correct ?

1. It represents the range of conditions that it
can tolerate the resources it utilizes and its
functional role in ecological system.

2. Each species has a distinct niche.
Select the correct answer from the code given

below ;
Code : '&’/
(a) Only 1 Both 1 and 2
~__ (c) Only 2 (d) Neither 1 nor 2
50. QGiven be!ow are two statements, one is labelled
Assertion (A) and the other as Reason (R).
Asseru_on (A): Rainfal] occurs in the winter

Season in mediterranean climate,

correct explanati
(d) (A) is true but (R) j
(c) Both (A) and (R) are
correct explanay;
(d) (A) is falge but (ll'i")1

true but :
of (A) (R) is not the

18 true

-l

’

A7.

48.

49.

50.

I

(WErTR) T 11
B. Imfiw L. go1
C. fie 2. = fea
D. Y (3w ) 3. ¥ g

A B
(a) 3 4 1 lz)
(b) 3 2 1 4
() 1 2 3 4
d 4 3 2 ]
T4 20223 o i g

s g o T e  fa

(a) ¥ra
OFs oo
W@:ﬁa:ﬁaw%mﬁﬁqma
FE-/A @R N
L. 78 3 Rl o At 1 3R

ﬁm%mmwmﬁgmﬂ%

mm’tﬁmﬁmmmm
2. SO S 1 0 e e e £ |
Fqe:
(a) Fw | (b) 17T 2 3
(c) % 2 @ AN 198 2
9 2 v R E, B s (A)

! FR (R) F&1 712 |
ﬂlﬁm"(ANMW%ﬁﬁﬁ
¥id %g # AR # |
RO (R) : TR & 3 &9 g e waml ¥
™E A E R
R RCCRE TR R S E TR TR
T2
(a) (A) 7w (R) 31 w&t & 3R (R), (A) $ w&

TS R
(b) (A) ¥&t R wg (R) e #

(c) (A) 7 (R) Q1 wdt & W (R), (A) 9 Wt

ST TE R
(d) (A) e R wg (R) Wt &
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Matc, i :
answer ﬁ::l; lIhv\nth List <11 ang select the correct
Lisg_ , T code given below the lists.
(H“VMD List - 11
u
Ntain) (Location in State
A of Indi
. Bates.hwur Hin I.nl-I:r)yalm
& tar; Range 2. Manipur
s in R.ange 3. Bihar
. Oshi Hiy 4. Karnataka
Code ;
A B C
- D
@4 3 I o
® 3 5 4
~+ey3 4 2 ]
d2 3 1
S52. The majp,

Purpose of ‘Gap,
launcheq in 1985, was

(a) Build neyw dams over the Ganga river
(b) Utilize the river w

Make jts water
(d) None of the ab

ater for irrigation only
pollution free only
. ove
@ Arr.ange the following conquests of Alauddin
Iji in chronological order.
1. Ranthambor

2. Gujarat
3. Warangal 4. Chittor
Select the correct answer from the code given
below :
Code :
(a) 4,2,3,1 (b) 3,4,1,2
(©) 2,1,4,3 (d 1,3,2,4

54. Consider the following subj
them into sequential order
Constitution.

I. The union and its territory

ects and arrange
as mentioned in the

=

52:

53.

54.

(b) 3
(c) 3
@2 3

B
(@4 3
2
4

D
2 5
1
|
4

¥ 19858 T e e Elie o ,

T v U TR

(a) ﬁm?&rméﬁaﬁmm

(b)ﬁ%mﬁmﬁaﬁ%mmi
SIGI

(c) m%ma%%ﬁamﬁam

(d) 30T 7 § +E 75

mmﬁqf@asﬂﬁﬁq%ﬁaa%ﬁiﬁ
FITHATIAR SHafeg Hifvey |
1. Ty 2. T

3. 9T 4. feuite
ﬁﬁv}nﬁ%ﬁaﬁmmmw;
Fe :

(a) 4,2,3,1
() 2,1,4,3

(b) 3,4,1,2

&
(d) 1, 3,2,4

ﬁtl%ﬁgaﬁmﬁmﬁwaﬁﬁr&mﬁw.
ﬁm#ﬁmﬁ:{f?‘v‘lﬁaﬁ%,m@aﬁﬁm
L. &9 qu1 e sy

II. Fundamental duties 1. 9 wdey
III. Citizenship [IL. i
IV. Directive Principles of State Policy . IV. 50 ) iy 3 Ry T C
Select the correct answer from the code given R my F2 A T I9 7 w97 S |
below. e
Code : ' _
() IV, IL, 111, I Mm, v, 11 (a) IV, 1, 1L, 1 (b) 1, 1L 1V, 1
(c) 1L L I, IV (d) IL 1V, I, Il () 1L 1, I1, 1V (d) 11, 1V, L1

-12-

Downloaded From: https:Mwww.dhyeyaias.com



: wics on the basis of | 55. ﬁl?-'lﬁ‘»fﬁga i‘qﬂ ) ¢
o the following CE8Hs 1277 in descending e T gy
5. ‘?Ir::::gﬁ ll)eL\'clop|\1c|11 Index 202 an I 35y 8 = T l2022 %
O‘dcr. . |
ntry ~ Russia « ST
3. Hon iven 4,
Select the correet answer from the code give ﬁ ﬁa Lp| %2 o W I wmﬁm
pelow : ; Eﬁ“:“a
Code ! 1,2,4,3 (a) 4,1,3 9
@ 4132 @ 2514 (©) 3,4,1,2 ®) 1,2,4,3
/ers. 4,1,2 3 ' (d) 2,3, 1 4
wing have signed the | 56. 2022 '
56. Who amonciil ré?glv?Rgsamg—MeghalaYa border ? -y bl
entt a9 H
agreeths “March 2022 7 P # & oy iy
dx:)i?‘{‘;fgn Home Minister, Chief Ministers of (a) Fy o p— TEER g 9
Assam and Meghalaya : (b) wra 3 T A T
Secretary of India and Director Te afyg § :
(b) Home ary T 36y g
Generals of Police of Assam and I Ty e %
halaya
© M}EEf Ministers of Assam and Meghalaya (©) Irm e e ¥ eteaien
Mome Secretary of India and Chief (d) Wi % Yk Sope 1 )
Secretaries of Assam and Meghalaya T ghig Y U Yarer %
57, Whichof the following statement(s) is/are correct | 57. ‘¥ 3 3feqy kT 3
bout ‘Make in India’ Programme ? : T & Prffan s
alt,m‘Make in India’ Progrgamme was launched HR iﬁq'm/_ 3 uER/R 2 ey
inthoyest 14 : 5 %“m'MHﬁmmﬁmm
2. Itaims at encouraging companies fc_)r 2. 3UF RY WG 3wy i \Tm l
manufacturing in India and facilitating reaTes > faferio &d
investment. . a1 e =) T T 2 |
ggIIECt the correct answer from the code given EIE| & w F 3 & I e
ow. HIf |
Code : we:
@Oyl o Both 1 and 2 (a) ¥ 1 0 T 2
O (c) Only 2 (d) Neither 1 nor 2 (c) a9 2 @ 3R 1942
58/ Consider the following events of the reign i )
of AT
Aurangzeb and arrange them in chronologgical 9: & T &1 Frerferfas et wfrn
orldell's : . A 3 3 .
. Battle of Deorai 1 iimé o— FHTTER et i
2. Defeat of Shuja near B \ T
4. Victory at Dharmat 3. WTE A W
Select 4, i
belgfv ‘the correct answer from the code given 3 o ¥
Code. @ ™ %2 A o s = = fRA
Eg §iémg3 (b) 1,3,4 and 2 E(E:):"rz 1 33 (b) 1,3,4 32
LIS ] an l d L Bt 1~y &
5?*3' (d) 2,4,3and 1 (c) 3,4,23M 1 (d) 2,4,33k1
C/ (u;ovmanc l.g,"’eﬂ for Covid-19 is a 59. hifere-19 % fore e wm aren R 2
9 A vaccine i
(b) Non-replicat; ‘ (a) THHARTAY JFfH
Plicating viral vector (b) ﬁ'(_srﬁ@ﬁ'{ A
(¢) Whole virus vaccine
(d) Protein sub-yp; (c) wrl arrE =t e
nit
D () T 9-ged

-13-
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L=t

60

Which of
S L.h “‘ the '““l‘-wing Cities is NOT part of the
Sunnj Nangle i,y Irag 7

) )
(a Baghdag (&) Ramadi

(c) Bagrg pi'l’ Tikrit
Who amo i
- l : g
L Single l;llf the folloy Mg has won the women's

N the Syed Modi International
(:;J?a(l’w']! held in Ja“llary 2022 7 i

/1)

- V. Sindhy h :
5) Sai (b) Jwala Guua
(©) Saina Nehwal — (g) Ashwini Ponappa
b:. ‘J } H s, ]
b ::‘-:C‘Ci;ah MISSI‘OI\ Scheme was declared in the
_’" udget of which Financial Year 7
ta}. 2019 — 29 (b) 2022 - 23
| (oY 2020 21 (d) 2021 -22
63, ic
C—/) Which of the following matenial is bio—dcgraduble ?
(a) Wool

(b) Plastic cups
\ (©) Aluminium foil  (d) Glass bottle
@onmder the following events and arrange them
In chronologica] order.
€ foundation of Gadar Party
Chittagaon Armoury Raid

HOI. Set up of the ‘Indian Independence
Committee’ at Berlin

IV. Central Assembly Bomb Case

Select the correct answer from the code given
below :

Code :

@ OLLOand 1V g7, [0 1V and It
(¢) LI, II and 1V (d) OL I, IV and IT

65. Which one of the following pairs is NOT correctly
matched ?
State Members in the
Legislative Assembly

Uttarakhand - 70
b) Goa = 40

(c) Uttar Pradesh - 403
A4) Manipur = 62

66.. Sulpha drug is which of the following types of
=

drug ?
(a) Antibacterial Lb‘)/Analgesics
(d) Antiseptic

(c) Antipyretic

67. Which Indian player has won the Gold Medal in
Men’s 200 mtrs. Butterfly Swimming Event held
in Copenhagen in April 2022 ?

(a) Sakshi Balkrishnan (b) Sajan Prakash

(c) Sri Hari Natraj (d) Sandeep Sejwal

-14-

60).

61,

62,

63.

64.

65.

66.

67.

PCUX-1-2,

Preaffeaa i & i -m g & g=h Frr o
o af R o
(a) |TETR
(c) ®H

(h) THTA

(d) ma

Prerfafiae o # B s=mn 2000 5 AT o qrd
st gAfiie & afaen vwer @ famma e 2
(a) 0. =, frey (b) FTem

(¢) BT ARATA (d) 7 dgraom
'maﬂmftww"imfémhﬁma'i%aﬁﬁum
# wfaa =) md f 7

(a) 2019 — 20 (b) 2022 — 23

(c) 2020 - 21 (d) 2021 —-22

Frefefera & @ 2R-m w2rd Sa- Pt 3
(a) A (b) twﬁ%?%\ﬁm
(c) Togifam wiga  (d) +fa #i wae

= o ™ g | wE I F 9= iy
He:

(@) ILLO@a IV (b) LI IVaer
(o) LOLHOTaIV (d) 0L L IV & g

Frafafea 7w & § F9-w o= gifom w3 |

T4 151312 BN
T wEm

(a) ITAUGETS - 70
(b) =T = 40
(c) IW W = 403
(d) wfoTgR - 62
w31, Treferfen o @, frm v sty
(a) Shcsframps (b) deEr
(c) satTeft (d) wforiedt
aﬂazozzﬁﬁqq%rmﬁgsﬁaﬁzom
AR T Tul ¥ R F g R 1 @
e Sffar R 7
(2) W&t AEFOEA (b)) T W
(c) i &Rt Term (d) Ty Yae
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B

¢8. United Nations Development Programme

(UNDP) has identified following categories of
poverty. Which one is correct 7

ncome poverty  (b) Human poverty
(¢) Both (a) and (b) (d) Nonc of the above

c Union Ministry of Environment, Forests

/

)

,/In which of the following stupas, the features of a

and Climate change, Government of India

has announced ‘Dolphin Day' which will be
celebrated on

(a) October 28

(b) October 5
(c) July 15

) April 15

" plateform with *Aryak-Pillars’ are found ?

(a) Bodhgaya
(c) Amaravati

(b) Ghantshal
(d) Nagarjunikonda

71. Given below are two statements, one is labelled

72.

73.

D

as Assertion (A) and the other as Reason (R).

Assertion (A) : Agraand Darjeeling are located
on the same latitude but temperature of January
in Agra is 16° Centigrade whereas it is only 4°
Centigrade in Darjeelin

Reason (R) : Temperature decreases with height

and due to thin air, places in the mountains are
cooler than places in the plains.

Select the correct answ
below :

er from the code given

Code : '
_g)%oth (A) and (R) are true and (R) is the

correct explanation of (A)

(b) (A) is true but (R) is false

(c) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(d) (A) is false but (R) is true

In which of the following types of heat engines
carburetor is used ?
(a) Diesel engine
(b) Steam engine
(c) Petrol engine
Both diesel and petrol engines
Which one of the following is correctly
matched ?
(a) Assam -  Wheat
(b) Uttar Pradesh - Jute
<<J Kerala ~ Rubber
(d) Gujarat ~ Tea

68.

69,

70.

71.

72.

PCUX-1-22

wgF T, R wy @wAR,) I

:‘j‘)‘wmﬁwﬂﬁ | BT
?

(a) 37 vk

(b) W fderay
(€) (a) 7w (b) 2t

(d) Ivdwa & @ 9§ 7

(a)-(A)a%n (R) 3 7 € 3k R), (A) weé
T

(b) (A) W&l R Wy (R) or 2

©) (A) 7 (R) 3F1 76 & wegq (R), (A)  5&
e TE 2

(d) (A) 7T § g (R) et 2

Frerfefe s 3 s ol 3 @ e
s fet R e @ 2
(a) St $
(b) W =
(c) Wt $o _
(d) 3 G 7 WA o

73. frfefa & & SR-w & v gk @
(@ 3w - W -
(b) SN -
(c) & - Tdg
(d) TR - 9"

-15-
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74. The conceptof ‘Basic Structure of the Constitution’
was propounded by the Supreme Court in the
case of
(@) Yusuf vs State of Bombay — 1954
(b) Golaknath vs State of Punjab — 1967
(¢) Chitralekha vs State of Mysore — 1964

A&y Keshvanand Bharti vs State of Kerala — 1973

75. With reference to Western Uttar Pradesh, which
of the following statements is/are correct ?
1. Western region of U.P. is much more
developed compared to other regions.
2. The region has witnessed the Green

Revolution.
Select the correct answer from the code given
below ;
Code :
(a) Only 1 Mth L and 2
(c) Only 2 (d) Neither 1 nor 2

76. Match List—1I with List — II and select the correct
answer from the code given below the lists.

List - I List - IT
(Persons) (Associated works/Posts)
A. D. K. Karve 1. Establishment of Girls
School in Calcutta
B. J.E. D. Bethune 2. Secretary, Widow
Re- marriage
Association
C. Ishwar Chandra 3. Starting a crusade
Vidyasagar against child
marriage

D. B. M. Malabari 4. Principal of Sanskrit
College in Calcutta

Code :
A B C D
(a) 2 3 4
2 1 4 3
©2 1 3 4
d1 2 4 3

(a) Kangaroo (b) Loris
A Echidna J‘*f Hedgehog

78. Solar energy is converted into electric energy

throu
hoto voltaic cells

(b) Leclanché cells
(c) Voltaic cells

(d) Dry cells

-16-
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74,

75,

76.

77.

78.

PCUX-1-22

w6 gt dea1’ ) s gEreT =maTe
ar faw arg o ufamifea 4 o off 2

(a) qHF Fm wrad U=y - 1954

(b) TerHATS WA o T - 1967 #

(c) Fereran wm fragr s - 1964 &

(d) Fwrar= Wi w1 Fer e - 1973 &

st s W % gt o Prefurfaa wudt 6 g
®-a1 | B/E 7
1. 3. 9. @1 ufeaft & s & 6 g &
Fiftrs frafera 2
2. 7% &7 B wif= & wef @ 2

e 63 ™ gz @ wdt 3 & v Fifw
2
(a) %ad | (b) 1 a1 2 &
(c) aet 2 (daa1ad2
gt — 1 ) gt - 11 & gafem Fifse qun gfwt 5
= A R g @ wh I gf |
g -1 gt -1
(zafa) (et = /u=)
A. 3. &, w4 1. Hersdl ¥ Fe
e i Ty
B. % §. 9. aym 2. sfym, 2
-2 Wit
C. SR o= frmmmrr. 3. =< faamw e
Y YO FET
D. . @q. wreErd 4. Ferhel § T
A & T=EHE
we:
A B CD
@l 2 3 4
)2 1 4 3
©2 1 3 4
@1 2 4 3
frafafea # @ -1 o s 3 R 7
(a) & (b) wifm
(c) fers (d) =M
HR St e ot & fres gro ohafia B
SR 7
(a) B FArcreTEh FRESN F g
(b) et R ¥ 7
(c) deTssh SRR F Tr
(d) &6 &R & g

N\

?I

S

(M



/' 79. With reference to 45"‘ World Bridge
L« " Championship which of ghc following
statements is/are correct 7 ‘ :
I. The Championship was held in Italy. -
2. Indian Team won silver medal in the game
for the first time, .
Select the correct answer from the code given
below :
Code :
(a) Only 1
(c) Only 2

(b) Both | and 2
(d) Neither 1 nor 2

g0, The demographic dividend is
,mj/sVorkirlg population of 15 to 59 years
(b) Working population of 14 to 50 years
(¢) 0= 6 ycars population

(d) Working population of above 60 ycars

/ Sl."kam Kum desert is situated in which of the
K_/following countries 7
(a) Kazakhstan Majikistan

(c) Kirgistan (d) Turkmenistan

’Eﬂhe first Interim National Government was
announced on

22" August 1946 &) 241" August 1946
’g{ 23" August 1946 (d) 25™ August 1946

83. Which of the following Rock Edict of Ashoka
speaks of religious synthesis ?
(a) Rock Edict - II (b) Rock Edict — XI1
_terRock Edict - XIII (d) Rock Edict — XI
84. Eco mark is given to a product which is
(a) Rich in carbohydrate

(b) Economically viable
Environment friendly*

(d) Un-adulterated

85.  Match List I with List — IT and select the correct
answer from the code given below the lists.

List - List - I1
(Centre) (Industry)
A. Osaka 1. Cigar
B. Detroit 2. Ship building
C. Cuba 3. Cotton textile
D. St. Pittsberg 4. Automobile
Code :
A B C D
@ 3 4 1 2
“Wr’4d 3 2 1
)1 2 3 4
(d) 2 1 4 3

79.

80.

17-

1.

82.

83.

84.

85.

453 forva et Aftrafim & weend # Frrfrfia &
ﬂm—m/ﬁzﬁmaﬁg/g ?

I.ﬂﬂ#ﬁmﬁm“z&'ﬁﬁmﬁﬁaaﬁﬂil

2. Wil 8m 3 el aw gm wer # e e o |
9 6 T e @ W i

F2:
(n) &ae |

(c) Hham 2
e Ty 2
(@) 15— 59 = 6 Frbvire e

(b) 14 — 50 7 6} Frivfer FmEa
(c) 0~ 699 H FEmwE

(d) 60T & IR A sriefrer e
A TEEAA Fafefigg 4 4 feg 29
ﬁ%?? =

(2) FHanfswm (b) fafFrem

(c) forfiteam (d) g

T S T T ) g ) 8 oft
(2) 22 30T 1946 1 (b) 24 37T 1946 1
(€) 23 30T 1946 1 (d) 25 3vred 1946 =i

mﬁﬁmmm—mmwmﬁ*
(F9=) % TR & FEar 2 7

(b) 1w 22t
dyaqa1382

(a) i R o (b) ameat Rren S
(c) vl R o (d) et Rren aw
ﬁmﬁaﬁsﬁqﬁ@mmﬂ()ﬁmmg?
(a) HIEIETESE T AT § B
(b) STt e &7 & wem B
(c) St vfawor & frgag &
(d) < fretree fd B
@-Iﬁ@—llﬂgﬁ%ﬁﬁﬁr&m@zﬁ%
A A T e | v 3w afn |

= -1 T - 11

(&%) (3evm)
A. G 1. R

B. ¢iEe 2. O fmto
C. == 3. gt a=
D. & fagwert 4. AR TR
He

A B C D
(@ 3 4 1 2
® 4 3 2 1
©1 2 3 4
2 1 4 3
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- ;]; ;;C(.‘(l)rd holder g, single longest
I'“cm-llional : SA" astronaut abroad the
@) Space Statiop ?

Mul'k Vd"dc Iel
(b) Pyotr I_)uhrov
(¢) Antoy, ‘Sheuplcm
) None Ol the abgy,e
87, hich ¢ f
e hcl' 1l ing ic T a *‘Sustainable
Develo ol ol OWing is NOT 4 Sustainable
by 203 g{;‘tnl(]ual (SDG) target 10 be achieved
(‘;) ZCFO‘Hunger
) Qual; y Educulion
(c) Jender Equaliyy,
\Ed)’bpaee Research
38. ; : .
x:::lg Lflsl ~Iwith List—g and select the correct
Lf tm € code gjve below the lists.
ISt~ ] List - 11
(Bm-reserve (State)
Sector)
Manag L. Madhya Pradesh
; Sundarbans 2. Uttar Pradesh
Nandj Devj 3. Assam
Pachmarhi 4. West Bengal
Code ;
A B ¢ D
R
(b) 4 3 2 1
(c) 1 2 3 4
@2 1 3,

89. From Which place Jayata ang Kumpa were
associated wh

O impresseq Shershah with, their
valour ?
(a) Mewar (b) Malwa
(c) Marwar

FrogTammc in Uttar Pradesh,

the
ollowing pairs is NOT correctly matched 9
(a) Baghpat

~ Wooden Toys
(b) Amethj -~ Moonz Products
T Agra — Leather Products
Mautam Buddh Nagar — Readymade
Garments

91. As per the ‘India State of Forest Report = 2021’
which of the following States has regllstered
maximum increase in the forest cover during the
lasy two years ?

) Andhra Pradesh
(c) Arunachal Pradesh

(b) Assam
(d) Kerala

PCUA-I =22

m'%ﬁf{ﬂ
srafes v et
" mmm el yr=afog A F1 feprd
fepeerr & 7
(a)mais;:ai
(b) fe
(¢) T2 Mt _
(d) I o & Frf

Fraferfiaa § @ #9-m ‘gaq frprm e (SDG)
" #2030 T 311 FT F1 v 7 § 7

(a) 4 @

(b) Torere e Fve

(c)ﬁﬁiﬁm

(d) =Ry IFEaH

19 -IIQWWWW
e ?:n—aﬁa};ﬁ@éaﬂmﬁm'
T -1 LSiAR
(- amfam gm) (=)
A. Tg l.mﬁﬂ
2. IW W

3.3mq.
4. 9fegy T

89, mﬁmﬂmﬁmmmﬁwaﬂz

90. IW woyr i TH Tqe

91 ‘s’%mézm%ftq}i ‘
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Downloaded From: th’vahveyala




92, Consider the following Political Parties and
arrange them in the chronological order of their
establishment.

I. Bahujan Samaj Party
1. Samajwadi Party
11I. Telugu Desham Party
IV. All India Trinamool Congress

Select the correct answer from the code given

below.
Code :

) I, I, I, 1V (b) I, I, IIT, TV
(¢) OLIL I, IV (d) O L I, IV

—

93. )With reference to the BIMSTEC, which of the
following statements is/are true ?
1. P. M. Narendra Modi addressed the 5%
BIMSTEC Summit on 30" March, 2022.

2. 5" Summit of BIMSTEC had been chaired

by India.
Select the correct answer from the code given
below :
Code :
@) Only 1 %ﬁh 1 and 2
(c) Only 2 (d) Neither 1 nor 2

94. Who was the founder of ‘Satyashodhak Samaj’
having its primary emphasis on the seeking of
truth ?

(a) Raja Ram Mohan Roy /*
(b) M. G. Ranade

_keyJyotiba Phule
(d) Tarabai Shinde

@ With reference to Common Wealth Games

Scheduled in 2022 and 2026, which of the
following statements is/are correct ?

1. Common Wealth Games will be held in
Birmingham (England) in July — August
2022.

2. Common Wealth Games will be held in
Victoria (Australia) in 2026.

Select the correct answer from the code given

PCUX-1 - 22

92. Fmfafaa toitfoes goi g1 famam Sk o 2
IR T F FAmHATER sgafedd SR |
[. ¥89F 9191 i
1. guTSIardt Tt
M1, /7 3w ot
V. 3t e o g
RERLCR R o R ——
Eo

(a) LIL 0L, IV (b) I, I, I11, IV
(© ILIL I, 1V (d) 1L, 1, 11, Iv

93. Twd® (BIMSTEC) % weaf # freforfiae & &
BA-T/A T T 2/E

L. R, Tz 9 Y 5 F faevs e
TR W 3071, 2022 9 g e o |
2 sﬁﬁm%mﬁmmﬁmﬁmmm%

& oft |
2
(a) %9 1 (b) 1ar 23t
(c) Faa 2 OELIES )

94. ‘EINYF HUW' F HEATF 1 Y P s
TR §ed ) @ W o7 ?
(a) T A e T
(b) . . TR
(c) Hitferan Ft
(d) awrar fare

95. 2022 3R 2026 ¥ TTqd UgHvSH Gl & T=ey
#, frafafaa 3 @ $-1/3 7 wd /% 7

1. S - 3rRa 2022 ¥ UHYESH Gl &1
e affem (3ts) # g |

2. 2026 W TsgHvSH Wal 1 A faweita
(3megferan) # €0 |

2 ol ™ we @ T IN F T HRD

L T4
(2) Faa 1 (b) 1w 23

below :

Code :

(a) Only 1 (b) Both 1 and 2
(c) Only 2 (d) Neither 1 nor 2

(c) ¥ 2 (@ FA1IA2

=19«
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96. Given belo

W are two sage is labelled
as Assertio Statements, one is labe

" (A) and the ofher g5 Reason (R).

Asser
of we 0“ (A): A Solution of table salt in a glass
R s homuogeneoys

Qas'}n S.
; t A i — t
com sition th solutioy having differen

Select he foughout is homogeneous.
below - correct answer from the code given
Code ;
(a) B

mﬂth (A) ang (R) are true and (R) is the
(b) Fn_:-cl explanation of (A)

(A) is trye but (R) is false

= foOth (A) and (R) are true but (R) is not the

rrect ©xplanation of (A)

(A) is false byt (R) is true
97’ Match List - wj
answer from th

List -

th List - IT and select the correct
€ code given below the lists.

List - I
(Text) (Writer)

A. Ragmala 1. Somnath

B. Rasakaumyg; 2. Venkatraman

C. Ragvivodh 3. Pundrik Vitthal
D. Chaturdandi Prakashika 4. Srikanth
Code :

D
2
1
3

4

98. Given below are two Statements, one is labelled
as Assertion (A) and the other as Reason (R).
Assertion (A) : During the 20" century, poverty
and poor people have become the subject of our
concern and duty.

Reason (R) : Strategically there was lack of

targeted actions due to which this issue got

momentum.

Select the correct answer from the code given

below :

Code : '
Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) (A) is true but (R) is false _

(c) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(d) (A) is false but (R) is true

«20-

96.

97.

98.

PCUX-1 -,

gt AR (A)
m £, @
3 @ w2 >
@ﬂ%fiﬂ?ﬁmﬁmmmm
sftrmeA (A) ¢
e (R) 0 58 A
E%@@awmmwm:
ﬁ:(maﬂt(R)aﬁHﬂ‘éaﬂt(RL (A) i uf
STEAT B

(R) TeId 2
) eyt & o (R, (A) 1

Al 6
(@ (A) e @ T (R) T

_1 9 g - 1 & gifer i 7 g

Eﬁ—anﬂgﬁ?@fﬂ@ﬁq'
gt - 11
q\d’[—l
(TSATHR)
(=)
1. gy
A. TOTHTE
B. WA S
C. TfEy 3. gt fgew
D. wgéwdt ST 4. e
%
A BCD
@3 4 1 2
b2 4 3 1
©4 2 1 3
1 2 3 4
A2 Qw7 A E o B R (A)
A H FRO (R) w1 T R | :
M(A):mmmﬂﬁﬁﬁm@‘ﬁﬁq
wﬁqmﬁm@aﬁfa%ﬁwaﬁl
mm):wmﬁmm%wﬁam%%q@w
3T o freh woraey 3 R ) fy R |
ﬁ%ﬁﬁw&@ﬁaﬁmwmﬁm:
'ﬁz-

@ (A) 7 R) 3wt & 7o (R), (A) #t §
TR §

(b) (A) ¥t R v (R) o7t 2

(c) (A) 7 (R) 4wt &
e 781 & g (R), (A) F wy

(@) (A) Ter R wog (R) it 2
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99. /Match List - I with List - I and select the correct

answer from the code given below the lists.
List -1 List — 11

(Day) (Event)
A. April 18 1. International Tiger Day
B. May 22 2. World Heritage Day
C. July 29 3. World Soil Day
D

- December 5 4. International Day of
Biodiversity

Cs

—

—
W has NN
Nl—'u—n
-—u-h-h-a

100. Which among the following is an important
mineral of Pegu Yoma region of Myanmar ?
(a) Silver (b) Tin
(c) Copper (d) Mineral oil

101. Which of the following trees is dangerous for
environment ?

(a) Banana /(B)/Eucalyptus
(c) Babool (d) Neem

102. By which amendment of the Constitution, ‘Delhi’
has been made National Capital Region ?
69" () 73M
(c) 70® @) 75"

103. Who returned the ‘Knighthood’ title to the British
Government in reaction against Jalianwala Bagh
Massacre ?

(a) Shankaran Nair

Rabindranath Tagore
(c) Rameshwar Singh
(d) Md. Ali Jinnah

104. With reference to Budget of Uttar Pradesh for the

Financial Year 2020 - 21, which of the following
statement(s) is/are true ?
1. The size of the budget was Rs. 5,12,860.72
crores.
2. Certain new schemes were also included in this
budget amounting to Rs. 10,967.87 crores.

Select the correct answer from the code given
below.

Code :
2) OnN'1 /?rkﬁom I and 2
ﬁc; Only 2 d) Neither 1 nor 2

105. Which of the following coasts is the largest tidal
energy producing area in India ?
(a) Kerala Coast (b) Mannar Coast
r/(r,)/l(hambhat Coast (d) North Circars Coast

100.

101.

102.

103.

104.

105.

D 21-

PCUX-1 - 22
qft - 1 g - 11 A gifera AR aon gl

¥ 2 A M 2 ¥ g I+ " A
gt
() (I / )

A. 30 18 1. g am feaw
B. w§ 22 2. fava faoaa feam
C. ya§ 29 3. fava firdt femm
D. Reew 5 4_%

da-faferaen feam
w2
A B C D

@3 2 1 4

b)1 2 3 4
€©)2 4 1 3

@4 3 2 1

=T @ Y A fe R @R o e s 7
(a) =& () =
(c) i (d) sf= =

frafafea & & ¥F-w gu wafaw /3
T R ?

(a) el (b) FHfarE
(c) sg (d) Fm
i wfreT w3 g Rl 9 usd T
8 T T 7
(a) 69 af (b) 734t
(c) 703t (d) 754t
SiferETaen 97 e ¥ iy § e fafew
TWHR I Argegs’ H Ity Fi e e @ ?
(a) Y TR
(b) WAy 2R
(c) Taver féw
(d) §. areh R
I oW F ety = 2020 - 21 F w9 F =Y
# Prferfea o & F-w1/3 Fo v /2 7
1. W91 &1 AHR T. 5,12,860.72 F$ T |
2. T w9 ¥ %. 10,967.87 s it &wiqwg 74
o ot wftfem & 8 |
R R W w2 A v I F T FRA

L T4
(a) e | (b) 1wan 23wt
(c) Faet 2 @ FM1Td2

yr@ o waifts SO vffa I|es N &8N
frefafEa A sE-T R ?

(a)%ﬂ?ﬁl! (b) ¥R W

(c) TE @ (d) ITd-wSR @
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107. Right 1o Educatjgp

me. Which Irchleolonicnl site of Indus Vn"‘z
z.;ulon. the figures or models of boat @

Kliibnngan and Ropar
) H“‘:Ppa and Kougiji
Ohenj

NJjodaro gng Lothal
d) Dhnulnbira and Bhagatray

has been included into the
mEn‘tal Rights by the
(a) Consnmtion m Amendment) Act, 1992

(b) ONstitution (93n Amendment) Act, 2005
Onstitution (g6t

(86 ' Amendment) Act, 2002
@ Constinygoy, (103™ nt) Act, 2019
108, Which twe of the following States are the leading
Producerg of Iron-Ope in India as per the Annual
Report of the Ministry of Mines 2020.21 7
SN 4 Chhattisgarh
3. Jharkhang 4. Kamnataka
Select the COrrect answer from the code given
below .
/(% :md 2 (b) 1and4
©1 and 3 2 and 4

(¢) Methane (d) Phosphorus
With reference to valuable I.T, Brands, which of
the followsj

111.

D

Ng statements js/are
1. “‘Accen
World

2. TCsS.

correct ?
ture’ is the most valuable
wide I.T. Brand in 2022,

is No. 2 ip global LT, Services
Brands ip 2022,
Select the correct answer from the code given
below :
Code :
(@) Only | (b) Both 1 and 2
,‘(o)"On]y 2 (d) Neither 1 nor 2
Which one of the following is NOT correctly
matched ?
Lok Sabha Election Year
th
(@) 7 - 1982
(b) 11 1996
(c) p - 1989
M;;“’ 1 1999

106.

107.

108.

109.

110.

111,

-22.

’

PCUX-1-9

, qeiA Afufas, 2002 % g
dfau™
:;; {l;gfiﬂﬁm?lw Ffafam, 2019 % gm

F HER
N M Ml

7

*mmg 2. ol

;~ e 4. FAeH

A4 R 78 2 & o AR
T:):lmz (), preu 4

(c) 173 ) a4

S TR g4 § e g @
(a)'qqﬁﬁ'qqm (b) aah’n

(c) i (d) wrewE

T A, s % e P 3
FH-T/A T w2/ o

L. T IR ' 2022 % waifs

TEH A, §T R

2. a.vsh.qa.-%ﬁamawﬁ.a.aariﬁﬁzozz q
T2 WA W 3 |

ﬁﬁ%“ﬁw%mmwmﬁﬁ&

@ ¥ | (®) 17w 2 3

(c) ¥ 2 ORE SER P

%ﬁﬂmwmmﬂmg?
wwa ey

(a) wreely 1982

(b) wreet  _ 1996

(©) i 1989

@ vt _ 1999

i m
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According to the annual ‘Frontier Report -2022

released by U. N. Environment Programme,
which Indian city has become the second most

polluted city of the World ?
atna / (b) Moradnbad‘w’

noi
S P
(d) Kota

(c) Indore

With reference to India which of the following
statement(s) is/are correct ?

1. India is the sixth largest country of the world.

2. India occupies about 2.4% of the total area
of the world.

3. Tropic of Cancer passes through the
middle of the country dividing into two
latitudinal halves.

4. India lies completely in tropic zone.

113.

R Select the correct answer from the code given
s below :
Code :
Ea; 1 and 2 b) 2 and 4
c) 3and 4 _ 2 and 3
114. The dengue fever is caused by the bite of which
of the following mosquitoes ?
(a) Anopheles Aedes
(c) Culex (d) Asian tiger mosquito
1 115. Match List — I with List — II and select the correct
, answer from the code given below the lists.
! List - I List — II
(God) (Symbol)
A. Shiva 1. Chakra
B. Vishnu 2. Trident
C. Ganesh 3. Veena
D. Saraswati 4. Rope or noose
Code :
A B C D
A 2 1 4 3
b 4 3 1"~ 2
c) 3 2 1 4
4

: @l 25:3

r @ ‘Poverty is regarded as a social problem’ which
was the outcome of a survey research on poverty in
London. Who was the Scholar of this research ?

(a) Charles Booth  (b) Henary George
(c) Kingsley Davis (d) Sir Henary Maine

117.) Dudhwa National Park is situated in which of the
following districts of Uttar Pradesh ?

(a) Sitapur __by Lakhimpur Kheri
(c) Pilibhit (d) Bahraich

118. The atmosphere of Saturn contains which one of
the following gas in large quantity ?
(a) Nitrogen (b) Carbon monoxide

T ——

113,

114,

115.

116.

/(e)’Methane (d) Sulphur dioxide
D

!

-23-

117.

118.

PCUX-1-22

112. ﬁgmmﬁﬂ%w‘?ﬂmmﬁmmmﬂaﬁm

v PiYE - 2022 % FER g 1 7E AT
vafy wauvl 7@ M 1 BA-a T R 7

(a) T (b) qUZ
(c) FAN (d)
wra % aed § Preafafea wouEt § @ FE-E/8
wh R/% 7

|, 9T forva 1 wo gad Az AW R

2. HER FH AN 2.4% B qAA F

e R |
3. % (@I & % ¥ & rerch # i s
e =1 Q =T gt # e 2
4. v gt a8 ¥ Iy @9 10 fEam 2 )
A2 o M $2 | wd I F 99 FfAF |

(a) 19912 (b) 27 4
(c) 3qui 4 (d) 2a=13

?wmﬁ%mw%m@ﬁﬁm
?
(a) TS

s

(b) T

(c) (d) TR = " g=8t
gl — 1 gt - 11D gitfera R aun gidi %
4= f@ ™ %2 | w5 I g |

-1 - 10

(@) (TFE)
A.g:a 1. 9%
B. 2. Pem
C. oIS 3. <o
D. Tl 4. T A1 H
e A B C D
(a) 2 1 4 3
(b) 4 3 1 2
(c) 3 2 1 4
d 1 2 3 4

Tt + & gmifs gae 7@ T R S 6
e 1 frelaar w R ) w g wde 51 afoms
I Y S i e 9 ?

()mﬁ‘fg (b) &0
(i)%'ﬂﬁ (d) W& W=

T FaH I WY Frtaiea § ¥ few
ﬂﬁ FafRE R 7
(a) HiaTg (b) T S
(ORISIIN (d) WS
i ' % 7 Frafefes § ¥ SR-6 Ay

e afores v ® urd s R 2
(a) ATEZIH (b) e AT
(c) W= (d) HeH SIS
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PCUX-1 _ 22
1 l‘i) Wi
N hl(-h
the ¢ . ; 2 -
Lata M““lel:: 'l-)”““"“l-’. Statements abouyt 119, e e & wvaey § fefofa R /R
. She Wag “r.lsmm true 7 ®ud adt B/% 7
Dclfom; Ii\,: h“; Indian Artist evey 1o I, =4 & Tae Fwe 7t i T 3 e = :
2. She Made he:-"d ::"dun's Royal Albert Haiy. oy Tl wAER ot |
Stage 4, Long SOut on (e Internationg| 2. =i w9 gt 3 T ey T ¥
Seleey the o O's Royal Albert Hy|. ' et Tewé wfer BT @1 |
bclaw . €t ang Tom the code given
C(’de: :ﬂﬂ&anﬂiﬁz%mﬁmwmiﬁh&
(c) Only 5 &Lb')/B.oth I and 2 (a) ¥aer | (b) 17w 2 2
120) o, oy @ Neither | nor 2 (<) Faw 2 d) Fd 1342
'h dae
C(zl)ebrate? 2" Ut Pragegy 120, S e o o o ) sy e 27
(c) 24th ,:;‘l‘:;'y? ®) 258 1aary (a) 23 St (b) 25 ety
2L A D 26" January (¢) 24 7af (d) 26 57t
What j b Worl APpinegs Ind , - ,
'S the rany Indig 5 €X=2022" [ 19;. ova gErh T - 2022 3 FTER YR
(@) 13pth e ash—?rwnqt% ?
— (140t @ 1 ;gm (@ 130t ®) 11037
122 whie e . () 1405t (d) 136 5f
Matcheq 5 O OWing pajr ;¢ NOT correcyy 122 P o q -1 wE gifer
Quantigy . TR
a) p S. L Unit
Tessure < Whiget R TH. 3, RIEE
(®) Power of leng ‘ (a) Tame /2 -
€ Diopter RS
eat J (b) g &War -\
y Oule
(d) Activity of radjo- W st .
active sypgt c = . (d) m"‘zﬁ?ﬂ g
ance Curie =y H%ZWIT
123. Givep be!ow are two Statements, ope is labelled 123. $9 3 F 2y
as Assertion (A) and the €r as Reason (R). ' T Tk ™ § R 3 TS i ey (A)
Assertion (A): Chile g the leading producer ™ F (R) sy ™ R
of copper in the world. e (4) frva i fyeh T H1 iy
Reason (R) : Andes Region of North Chjje is IEIEH R |
enriched with the largest deposites of Porphyry F (R) : 35 :
copper, %ﬁmaﬁ?ﬂgqﬁmmmm%
Select the correct answer from the o ']
code given below - "ﬂﬁ?ﬁ%mwmﬁm:
Code : R
oth (A) and (R) are true ang (R) (@) (A) ey (R) QMY ey ¥
/‘*Eme correct explanation of (A) ST iy ? e R, AH
(b) (A) is true but (R) is false (b) (A) wey ? T (R) ey 3
(c) Both (A) and (R) are true .bUl (R) (©) (A) a1 (R e ey § &’__ﬁ ®
is not the correct explanation of (A) & ey 3 ) (A)H &
(d) (A) is false but (R) is true () (A) 7o

ias.com
Downloaded From: https://www.dw



<

B
~124.) Who was the founder of ‘Hindustan Socialist
“ Democratic Union" ?
(a) Yateendranath, Ajay Ghosh, Phanindranath
Ghosh
(b) Gopen Chakravartee, Faneendra Banerjee,
Dharnee Goswami
¢ Vyomesh Chandra Banerjee, Ajay Ghosh,
Sacheendra Sanyal

(d) Vyomesh Chandra, Gopen Chakravartee,
- Sacheendra Sanyal

125. Match List—I with List - II and select the correct
answer from the code given below the |ists.

List -1 List - II
(Plant disease) (Factor)
A. Citrus Cracker 1. Insect
B. Red rot disease of 2. Deficiency of
sugar cane oiygen
C. Krishnakant 3. Bacteria
disease of potato
D. Sahu disease of wheat 4. Fungus
Code :
A B C D
(a) 1 2 3 4
(b) 1 3 4 2
(c) 3 4 2 1
(@) 4 1 3 )

@ Given below are two statements one is labelled
as Assertion (A) and the other as Reason (R).

Assertion (A) : Phytoplankton grow in abundance
in the limnetic zone.

Reason (R) : Limnetic zone is open water
zone.

Select the correct answer from the
below :

Code :

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) (A) is true but (R) is false

(c) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(d) (A) is false but (R) is true

code given

127. Compressed Natural Gas (CNG) is mainly
composed of

~—far Butane
(c) Ethane

(b) Propane
(d) Methane

PCUX-1-22

124. %ﬁmﬂﬂmnﬁmm
9 7

() Fefrzmer, A A, Eofrzmy
(b)fhﬂaamzﬁ,tﬁuhazmﬁ,mm

(c) Hﬁﬁmaaaq:.ﬁ, EEC R L SE—

125 A 19w - 112 i By o
%ﬁﬁa@ﬁﬁﬂﬁmwwﬁgﬁi
Tl -1 g -1
(9T ) ()
A. T AT L. #r
B. M ®1 At wea M 2, s 1 i
C. I F Pt & 3. <framy
D. 7§ 1 |1 m 4. 795 (5%)
%!
A B & D
(@ 1 2 3 4
() 1 3 4 2
(c) 3 4 2 1
d 4 1 3 2
126.

ﬁamﬁaﬁ%‘,mﬁaﬁmﬂmw

TR B H (R) a1 T R |

M(A):%ﬁ&m%ﬂﬁwmaﬁm

7 3fg w@ § |

Fw (R) : forsifess & ot o1 e &5

B R |

A A ™ F2 § vl I W v SR

w2

(2) (A)Te (R) THT &7t & it (R), (A) 1 way
TS B

(b) (A) ¥&t R W (R) e 2

(©) (A)Te (R) Qi w8 & g (R), (A) ) w
STET T R

(d) (A) e R T (R) WEY R

127. wdifea smepferen (CNG) Teaman =+ft 3 &
(a) A @ (b) SR §

(c) ™ W (d) Wdq g

.25.-
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128,

\‘;’ht.‘; ulllnng
0r d - !
202;. Which was held jn March 2022
(a) Toni-Ann Singh

oling Bicluwsk{l

pl.ler[-o Rica

(c) Sri ainj
D Olivig vy,
atch ;
S\\C*::Irl;"?(: =L with List—I1 and select the correct
E: IPB Code given below the lists.
St —
(YOJ"&"PI‘ Ogramme) (Launching
- . Year)
‘_’A/N?u(j"“a] Rural Heqyqp, 1. 1995
. Missio '
Natlonal Socia) Assistance 2. 2005
& 5 Mme
" o am Jayanti Gram 3. 2001
D S""amjgar Yojna
" SaMpoorp, :
Yojng fameen Rojgar 4. 1999
Code ;
w1 5 € D
2 3 4
(b) 2 1 4 3
©2 4 3
A4 2 3
130.  Which 0
el r;c of the follow:ng 15 NOT correctly
Al u}:nini um Plants Location
(@) Indian Aluminium ~ Hirakud
Company Limited
INDAL)
(b) Bharat Alurpinium — Korba
Company Limiteq
(BALCO)
(c) Hindusta_n Aluminjum — Renukoot
Corporation Limited
(HINDALCO)
(d) Madras Aluminijum — Chennai
Company Limited
(MALCO)

131, Which among the following compounds is the
main constituent of natural gas ?

(a) Methane (b) Hexane
(c) Benzene (d) Butane

th[! ’b"O\Ving Wils lll(’: winner of Miss

in

-26-

m,aa—(,g-ﬂ)?.l
i
A
o 20224 #4
28. ﬁmﬁ_’ﬁa‘fw f
2T
(@)
(b)g"”‘?f%‘:ﬂ
("”ﬂﬂ:ﬂ @ 3
(d e 14 g e G
129. ﬁ‘é;igw@ﬂgﬁ“ -1
Tl o )
(airer ) e 1. 1995
A, T Fr E&R 2. 2005
B mﬁ“‘-'“'m"b"a; i a3, 2001
c:;“;:wmm 4. 1999
D
agz.A B C D
@! 2 3 4
2 1 4 3
2 4 1 3
@4 2 1 3
130. frafafea § & $9-a1 v @d gl @i & 2
T waes Faferfa
(a) 3 wogrifiam st — LU
feifie (INDAL) A
(b) YA T et - Py /]
fafies (BALCO)
(¢) fegwm wwphfiay N —
FRYA fafins
(HINDALCO)
(d)WWﬁmm:ﬁ _ Q:q.g
ffis (MALCO)
T oy gt g
f:; :_j; (b) ¥R
@) g
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132, Match List - Twith List - 1 and se

lect the correct
answer from the code given belo

W the lists,
List - 1 List - 11
(Philosopher) (l‘hlloanphy)
A. Ramanuja L. Suddhadvaiy
B. Madhavacharya ), Dvaitadvai
C. Nimbarka 3. Dvaita
D. Vallabhacharya 4, Vishishtadvaita
Code :
A B C p
o 4 3 2
® 3 1 4 >
@@ 1 2 3 4
d 2 4 1 3

133. A Joint Public Service Commission for two or
more States can be established by

(a) Lok Sabha
(b) Parliament, if re
States

_(c) Rajya Sabha

(d) Union Public Service Commission

quested by concerned

134. Which of the following three States of India were
top performing States under ‘NITI Ayog's State
Energy and Climate Index’ declared on 10 April
20227

(@) Punjab, Uttar Pradesh, West Bengal?"
Tamil Nadu, Kerala, Karnataka

(¢) Gujarat, Kerala, Punj

(d) Manipur, Tripura, Mizoram

135. | Which one of the following did NOT serve as

Vice President before ass uming the office of the
President of India ?

(a) R. Venkatraman

(b) Neelam Sanjiva Rf@

(¢) Dr. Zakir Hussain

(d) Dr. Shankar Dayal Sharma

136. According to ‘Global Business Cities Index’ of

January 2022, which of the following is the top
business city in the world ?

(a) Paris ,(-b‘)’f—ﬂ)ng Kong

(c) London (d) Frankfurt

PCUX-1 - 22
132. qh - 19 g - 113 gifem Afod 7en gfieat &
A2 7 mh gz & whl 3o wf
aqh -1 “-ll
(amvifae) g‘;’
A [ 3
B_m 2. dga
C. faardk 3. B
D. wEeryrar 4. fafirada
w:
A B C D
(@ 4 3 2 |
® 3 1 4 2
€ 1 2 13 4
@ 2 4 1 3

133. A7 A3 i vt B Rl o v i B

SN T A Hehar R

(a) SHENT g

(b) Heftra Tt % Prer w wmz zm
(c) Tsgaw g

(d) 9 & Ja1 AT 2R

10 38 2022 #1 whf¥m ey s % e 3t
ﬁmm%mm%m
ﬁﬁwﬂﬁmhmﬁmﬁmﬂmﬂq-ﬁ ?
() VSIS, IR wew, Wit s

(b) fETTg, e, FAtew

(c) TR, WA, Yo"

(d) =T, Frga, frsire

ﬁ%ﬁaﬁﬂﬁw&w%wﬁqummﬁ
%l{éw—m%wmaﬁ&aﬁﬁmﬂl?

(a) 3N, Ty

(b) Frem Hfran Y

(c) 1. Wi &8

(d) T, i gyt

A 2022 % ‘aﬁammmﬁmmm‘%
mﬁmmaﬁﬂm-mmﬁwmw&
HaaTiE e 7
(a) Aty
(c) &=

134,

135.

136.

(b) & i
(d) Fwwd

-27-
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137. : .
g:a(fgrLf:.St“I With List — T and select the correct
List -_Olm the code givmi};e]ovﬁthe lists.
ustaj Ist - .
"elosll::llzl::l (Related with)
A. SDG 10
B. ng :g L. Climate change
C. SDG 14 2. Life on land
D. SDG 15 3. Reduced inequalities
Code : 4. Life below water
A B C
@3 14 3
3 2
138 Match List I wi .
— 1 with List—I] anqd orrec
answer ﬁ.'om the code given bel?:%cfliem[?sfs. .
(Ne‘“pal:es:fﬁa]agm-m) o et |
A. Swadesh Xf ;aubhcnnon)
B. Bharat Banghy, 2. Almora
C Satyawadl 3. Hath
D. Shaktj 4. Gorakhpur
Code :
A B Cc p
@l 2 3 4
)4 3 | ,
©2 3 4 ]

(a) Loan Banking Scheme
b Lead Banking Scheme
(c) Loan Banking System
(d) Lead Breaking System

140. Which one of the following is a land locked

141.

142,

D

cou ?
Bolivia

S P (b) Surinam
eru

(d) Uruguay

When was the Panchayats (Extension to
the Scheduled Areas) Act passed by Indian
Parliament ?

1996

(a) 1993
(c) 1995 (d) 1998

Which Mughal ruler patronaged Kavindra
Acharya Saraswati of Banaras, a great scholar
of Sanskrit and Hindi ? _
(a) Humayun (b) Jahangir

Q/Akbar (d) Shahjahan

137.

138.

139.

140.

141.

142.

B

PCUX-I-.Zz
— 1 gt — 119 gafera R e gfeg
gﬁaﬁgﬁaﬁmw%y?ﬁm| L
-1 -
mqf:.ﬁ WA (SDG)) (Wt )
A. SDG 10 1. Sierang ahad
B. SDG 13 2. o W St
C. SDG 14 3. IrEHEaeT A wr
D. SDG 15 4. 9 F = ey
F:A B C D
@3 1 4 2
2 3 1 4
@3 2 4 1
1t 2 3 4
gt - 19 gt - 11 & gafem AR e gl 3
e R R = & @ I gf |
et -1 T - 11
(TR /afE) (THIVH &1 Tm)
A. &9 1. 3w
B. W4 &Y 2. FeuE
C. g=ard 3. Tum
D. wf# 4. @R
w2
A B CoD
(ngl 2 3 4
b4 3 1 2
©2 3 4 ]
@3 2 1 4
W@, & e e ¥ R e s
mm&nﬂmﬁfaﬂmﬁﬁﬁwhwqﬁiﬂ
e d.om. wn k7 .
(a) v ¥ o
(b) 3muoft #fdm Fremn
(c) = #f&Fn goreh
(d) Imft fufaa woreh
ﬁnﬁmﬁﬁm-mwhmmt?
(a) ®refifean (b) gitam
(c) U% (d) 353
M H HHE % g T (e 7 e o)
HI7 9 gita e w7
(a) 1993 1 (b) 1996 &
(c) 19954 (d) 1998 &
ﬁwwm%m%é@mﬁ%mmﬁ
ﬁ;mﬁmmﬁa&mmmﬁmmr
(a) T (b) wehfic
(c) e (d) wmesTel
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143, Keibul Lamjao National Park is located in

which lake ?
(a) Kolleru (b) Dal
(¢) Wular (d) Loktake"

144, Which one of the following river basins is the

largest in respect to area ?
Wﬁl very (b) Narmada
\,(.P)’ﬁ:;mnadi (d) Tapti

Which one of the following dams is NOT in
Uttar Pradesh ?

() Ahraura
(€) Baghelkhand
146.  Jyotiba Phule was associated with
(a) Peasant Movement
: (b) Trade Union Movement
nti-caste Movement
(d) Civil Disobedience Movement
147. The earth atmosphere is mainly heated by which
one of the following ?
(a) Short wave solar radiation
(b) Scattered solar radiation
(c) Reflected solar radiationn#"
Long wave terrestria] radiation

148. Whgt is the name of the test for undergraduate
admission in Central Universities Sin gle Window
Admission for 2022 — 23 7 1‘)

(a) UAET

145,

(b) Adwa
(d) Badua

b) CUCE
(c) CUET Edg CUAT
149. Match List — I with List —IT and select the correct
answer from the code given below the lists.
List -1 List — IT
(Trade Unions) (Party Affiliation)
A. Bhartiya Majdoor 1. Indian National
Sangh Congress
B. Indian National 2. Communist P
Trade Union of India Congress
C. United Trade 3. Communist Party
Union Congress of India (Marxist)
D. All India Trade 4. Bhartiya Janta
Union Congress Party
Code :
B C D
: 4 1 3 2
b3 2 1 4
1 3 2 4
3 1

%}’2 4
150. hich countr

-1y has natural arsenic water
contamination ?

(a) Pakistan -('b)/B'angladcsh
(c¢) Bhutan (d) Sri Lanka

143.

144,

145.

146.

147.

148.

149.

—_h g

150. fomm 3 3 wrepferes SR srfte e foveren R 7

(a) Tifre
(c) e\

(b) W
(d) e

«29.
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